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byte.go

Overview
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genSplit(s, sep [Ibyte, sepSave, n int) [][]byte

10 R {ERRIESRIZ ORIREL, BONSE, F—IREIINR, FARDEA, F=1E
FREANRAERNERENANFH—RIEATFIR, Re— 1 ERSEBEEn I 2RFRID

// Generic split: splits after each instance of sep,
// including sepSave bytes of sep in the subslices.
/] AT sep MEHEIR SEEMEIF, 85 n 4, FE IERIRHESY) sepSave Nt —ia
HE—MIR
func genSplit(s, sep [Ibyte, sepSave, n int) [[[Ibyte {
ifn==0{
return nil
}
if len(sep) == 0 {
return explode(s, n)
}
ifn <0{
n = Count(s, sep) + 1

}

a := make([][]byte, n)
n__
i:=0
fori < n/{
m := Index(s, sep)
ifm<0{
break
}
ali] = s[: m+sepSave : m+sepSave]
s = s[m+len(sep):]
i++
}

ali] =s
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return al:i+1]

}

<a name="b0a544c6"></a>

Fields(s [1byte) [1[1byte

FERALIBRS N D PRFATELAIGRS < br /> XEBRIISEPRI S BB 7—1 uint8 #UERSEI T A
Cll fRiBRI=IBRIFIE, ERERMSRHIEREFMEIFASCIRISBINROTREE., <br />B— Fields
unc ERERERE XN

var asciiSpace = [256]uint8{\t: 1, \n": 1, "\v': 1, \f: 1,"\r: 1, " ": 1}

// Fields interprets s as a sequence of UTF-8-encoded code points.
// 1t splits the slice s around each instance of one or more consecutive white space
// characters, as defined by unicode.lsSpace, returning a slice of subslices of s or an
// empty slice if s contains only white space.
func Fields(s [Jbyte) [1[]byte {
// First count the fields.
// This is an exact count if s is ASCII, otherwise it is an approximation.
n:=0
wasSpace := 1
// setBits is used to track which bits are set in the bytes of s.
/] BRI EBEARF TR EFERIEE LB F kR R ut!-84%iD
setBits := uint8(0)
// XL 7 INREL N ARSIRITERIRRIR, 8T wasSpace
fori:=0;i < len(s); i++ {
r:= sli]
setBits |=r
isSpace := int(asciiSpace[r])
n += wasSpace & "isSpace
wasSpace = isSpace
}
[/ gEBITASCIIEE T FAutf-8
if setBits >= utf8.RuneSelf {
// Some runes in the input slice are not ASCII.
return FieldsFunc(s, unicode.IsSpace)

}

// ASCII fast path EiR

a := make([][]byte, n)

na:=0

fieldStart:= 0

i:=0

// Skip spaces in the front of the input.

// BEEFFLA0=HE

fori < len(s) && asciiSpace[s[i]] '= 0 {
i++

}

fieldStart = i

fori < len(s) {
if asciiSpace[s[i]] == 0 {

i++
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continue

}

a[na] = s[fieldStart:i:i]

na++

i++

// Skip spaces in between fields.

fori < len(s) && asciiSpacel[s[i]] != 0 {
i++

}

fieldStart = i

}
// 5R%b_EERYFIRTE] BE R G EOF 272 1%
if fieldStart < len(s) { // Last field might end at EOF.
a[na] = s[fieldStart:len(s):len(s)]

}

return a

}

<a name="140f0232"></a>

Join(s [][]byte, sep []byte) []byte
BEoBEMAIES, @B sep HIRAEETE,

// Join concatenates the elements of s to create a new byte slice. The separator
// sep is placed between elements in the resulting slice.
func Join(s [[[Ibyte, sep [Ibyte) [[byte {
if len(s) == 0 {
return [Jbyte{}
}
if len(s) == 1{
// Just return a copy.
return append([]byte(nil), s[0]...)

}
/IR EZKRI A
n := len(sep) * (Ilen(s) - 1)
for , v:=range s {
n += len(v)

}
b := make([]byte, n)

bp := copy(b, s[0])

for , v:=range s[1] {
bp += copy(b[bp:], sep)
bp += copy(b[bp:], v)

return b

}

<a name="9f6b8e07"> </a>

Map(mapping func(r rune) rune, s []byte) []byte
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// Map returns a copy of the byte slice s with all its characters modified

// according to the mapping function. If mapping returns a negative value, the character is
// dropped from the byte slice with no replacement. The characters in s and the

// output are interpreted as UTF-8-encoded code points.

func Map(mapping func(r rune) rune, s [Jbyte) [Jbyte {

// In the worst case, the slice can grow when mapped, making
// things unpleasant. But it's so rare we barge in assuming it's
// fine. It could also shrink but that falls out naturally.
maxbytes := len(s) // length of b
nbytes := 0 // number of bytes encoded in b
b := make([]byte, maxbytes)
fori:=0;i < len(s); {

wid := 1

r:= rune(s[i])

if r >= utf8.RuneSelf {

r, wid = utf8.DecodeRune(s[i:])
}
r = mapping(r)

ifr>=0{
rl := utf8.RuneLen(r)
ifrl <0{

rl = len(string(utf8.RuneError))

if nbytes+rl > maxbytes {
// Grow the buffer.
maxbytes = maxbytes*2 + utf8.UTFMax
nb := make([]byte, maxbytes)
copy(nb, b[0:nbytes])
b=nb
}
nbytes += utf8.EncodeRune(b[nbytes:maxbytes], r)
}
i += wid
}
return b[0:nbytes]
}

<a name="0d2d112c"></a>

indexFunc(s []byte, f func(r rune) bool, truth bool) int

IR[EFRFRAEREAY rune BYTR, REEFURE-1<br /> FEREETLIZHESRM, TURR#E
4, BZE truth RYER

// indexFunc is the same as IndexFunc except that if
// truth==false, the sense of the predicate function is
// inverted.
func indexFunc(s [Jbyte, f func(r rune) bool, truth bool) int {
start:=0
for start < len(s) {
wid := 1
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r := rune(s[start])
/AR 2utf-848i348E1R%!, MJERAutf-8.DecodeRune(s[start:])
if r >= utf8.RuneSelf {
r, wid = utf8.DecodeRune(s[start:])

}
if f(r) == truth {
return start
}
start += wid
}

return -1

}

makeCutsetFunc(cutset string) func(r rune) bool
BITEAN 89 string BT E, (FAFIRTROSEREL, ZREFIRT tRZE string EEANREIES IR

func makeCutsetFunc(cutset string) func(r rune) bool {
if len(cutset) == 1 && cutset[0] < utf8.RuneSelf {
return func(r rune) bool {
return r == rune(cutset[0])
}

}
if as, isASCII := makeASClISet(cutset); isASCII {

return func(r rune) bool {
return r < utf8.RuneSelf && as.contains(byte(r))
}

}

return func(r rune) bool {
for , c:=range cutset {
if c==r{
return true
}
}
return false
}
}

HBENEMAE AR SRS RO EY

DecodeRune(p []byte) (r rune, size int)

// DecodeRune unpacks the first UTF-8 encoding in p and returns the rune and
// its width in bytes. If p is empty it returns (Runekrror, 0). Otherwise, if
// the encoding is invalid, it returns (Runekrror, 1). Both are impossible

3k golang RIS EIIEE bytes €&


https://ld246.com/article/1552977181792

// results for correct, non-empty UTF-8.
//
// An encoding is invalid if it is incorrect UTF-8, encodes a rune that is
// out of range, or is not the shortest possible UTF-8 encoding for the
// value. No other validation is performed.
func DecodeRune(p []byte) (r rune, size int) {

n := len(p)

ifn<1{

return RuneError, 0
}

PO := p[0]

x := first[p0]

if x >=as {
// The following code simulates an additional check for x == xx and
// handling the ASCIl and invalid cases accordingly. This mask-and-or
// approach prevents an additional branch.
mask := rune(x) << 31 >> 31 // Create 0x0000 or OxFFFF.
return rune(p[0])&~mask | RuneError&mask, 1

}

sz:=x&7

accept := acceptRanges[x>>4]

if n < int(sz) {
return RuneError, 1

}
b1 := p[1]
if b1 < accept.lo || accept.hi < b1 {
return Runekrror, 1
}
if sz==2{
return rune(p0&mask2) < <6 | rune(b18&maskx), 2
}
b2 := p[2]
if b2 < locb || hicb < b2 {
return Runekrror, 1
}
if sz==3{
return rune(p0&mask3)< <12 | rune(b1&maskx)< <6 | rune(b2&maskx), 3
}
b3 := p[3]
if b3 < locb || hicb < b3 {
return RuneError, 1
}
return rune(p0&mask4) < <18 | rune(b1&maskx)< <12 | rune(b2&maskx)< <6 | rune(b3&ma
kx), 4
}

<a name="0ff51bed"></a>
Equal(a, b []byte) bool
//go:noescape

// Equal returns a boolean reporting whether a and b
// are the same length and contain the same bytes.
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// A nil argument is equivalent to an empty slice.
func Equal(a, b [Jbyte) bool // in internal/bytealg
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